MNEKSMA

/\ -
OoPTICS OPTO-MECHANICAL COMPONENTS

860-0053 LOW COST LINEAR TRANSLATION STAGE
=i 52
== 25
E 2 M4x10 deep
= 20 4 holes
for M4 screws e ofle ®
4 access holes IN r‘A(/
‘T wy \.T
<
= 4 & F*E 5
o5 & Ak
Z = for Mé screws Yo
e 2l hol
2 860-0053-01 clearance holes _{ @0 0 0
860-0053-02
4 ‘ 147max
> g o o
(X7} SPECIFICATIONS ,7 o
@ z Solid box design — = !
Z2 25 mm travel range g mm for M4 screws Mé6x6 deep
X = Variety of ting hol Sensifivity 1 pm 4 clearance holes 11 holes
M » ElMI=g ° (IiTE) (e Reading accuracy 10 um ‘ I
&2 and options Angular deviation <200 prad M4x6 deep ﬁ;:f RN \d
Easily stacked in X-Y Tracking accuracy 2 um 4 holes L Fe— A 1
configur_ation Load capacity: Y H @L 03%0
For Z axis add 810-0146-Al horizontal 20 kg TN NOg®
5 % Large mounting surface 'vertical 5 kg for M6 screws f}—‘# F: [ i
S3 Made of aluminium Weight 0.4 kg 2 access holes @, B ;?; Y
aE Material black anodized ‘ s
aluminium 25
Stable Aluminium Translation Stages Assemblies: 034
860-0053 have large mounting sur- XY directly 72,5
i z 810-0146-Al
2 :2;Ti’\,§|reantq tlnia\{el rlange ff<)1r th|§ 860-0053-01
[Z4e] ) y sma ..Slze’ ow pro e an Code Description Price, EUR
33 increased stability of precision. Box 860-0053-01 _standard stage 10
O 6 . . _ = =
= qes;?neq_ge'nffﬁes the Sta?e’éezubc 860-0053-02  side driven stage 217
& ing fiex. 1he platiorm I$ preloaded by 860-0053-03  side driven right hand stage 217
springs. The stage could be stacked
immediately to other units or to their for M4 screws 252,
own type (e.g. in X-Y configuration). 4 access holes M4x10 deep
3 Z-axis is attached through angle for M6 screws s 4 Pz)les
@5 bracket 810-0146-Al. The stage could 2 clearance holes \ {|[@ @ ® ]
5‘ = be used upside-down. For immediate
E m attachment the base has 2 clearance
» holes for M6 screws. Similarly, the
platform has 4 clearance holes for
M4 screws. Slip the screws from top

or under through the across holes in
a platform/base. Micrometers 870-
0040-25 comes as standard.

|
for M6 screws for M4 screws
= 2 access holes 4 clearance holes
n b —
== Iy
g E — | 1
”Z #rzh\ o
= e ensy
(@ | h |
860-0053-03 S o I ey A
Right hand version 4 screws ‘DO B I **@‘ ‘ (OHOHSD) @*‘ | H
- 820-0136 i % D |
= | _ 1
235 lolo-He]l
§ 5 Complementary Products 215 —
m N Code Page M4x6 deep, 034 Méx6 deep
& ° 8100146 8.28 4 holes 72,5 11 holes
820-0136 8.38 860-0053-02

8.109 EKSMA OPTICS -« Tel.: +370 527299 00 « Fax: +370 5272 92 99 - info@eksmaoptics.com  www.eksmaoptics.com



	LASER_COMPONENTS_catalogue
	LASER_COMPONENTS_catalogue-1
	LASER_COMPONENTS_catalogue




